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403 Xt SHAIS XH2 0 H 441,000 269,500 71,500
2 360,000
= 81,000
01 RXISHHX =S E 441,000 269,500 171,500
14 AFAIEEALE 0 & ALY 441,000
2 360,000
= 81,000
AAAEN O T 2,600,000 3,066,700 466,700
3 2,000,000
= 600,000
403 Xt SHAIS XH= 0 2,600,000 3,066,700 466,700
3 2,000,000
= 600,000
01 KXISHX =S E 2,600,000 3,066,700 466,700
OO ArRI Bl DL R EH R £ A 2,600,000
3 2,000,000
= 600,000
SUSBENSALE S 1,950,000 325,000 1,625,000
3 1,500,000
= 450,000
403 Xt SHAIS XH= 0/ 1,950,000 325,000 1,625,000
3 1,500,000
= 450,000
01 RXISHT =S E 1,950,000 325,000 1,625,000
O44S2SIHZAILES 1,950,000
3 1,500,000
= 450,000




A AR =0
B aprolo] AM USH(SHWSEM/HSSA - 0E)
el MBI AESEE (B9l & 2
S EH . S(BH) - NEAY - B2 0fl Ak o gggf; HDE2
UWEXTAMEFSHEH 1,300,000 260,000 1,040,000
3 1,000,000
= 300,000
403 MXISHHS K20 1,300,000 260,000 1,040,000
& 1,000,000
& 300,000
01 AXESHA=2EER 1,300,000 260,000 1,040,000
OWEIN=MNESRSHEHAA 1,300,000
Z 1,000,000
== 300,000
RO ASMABHELNEL 325,000 0 325,000
z 250,000
& 75,000
403 MXISHHS K20 325,000 0 325,000
2 250,000
c 75,000
01 RIXISHMAZ2E X 325,000 0 325,000
(23t A MASAHESI XY 325,000
Z 250,000
== 75,000
LAASHEITEAL 372,000 0 372,000
2 300,000
& 72,000
403 XXIEHSK=201HA 372,000 0 372,000
& 300,000
& 72,000
01 AXIESHAE2EER 372,000 0 372,000
O=MEXHIHEAIE 372,000
= 300,000
== 72,000
SAHEHS D WK JAANS 165,000 146,000 19,000
= 165,000
308 XXl EHHI S O0|® 165,000 146,000 19,000
= 165,000
06 FI|IZHUstEXE2 165,000 146,000 19,000
OFMHESSI DD R RAS 165,000
= 165,000
ADHEAHEIIS+A 1,117,000 1,117,000 0
J| 1,117,000
308 XMXIEHHSOIN 1,117,000 1,117,000 0
J| 1,117,000
01 IXSHEBAMNBEEZ 1,117,000 1,117,000 0
O Zol&&EHIIE+H 1,117,000
J| 1,117,000
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